1. Calculate

34621 4761325
+ 25734 - 938052

67,832 + 5,258 =
834,501 - 193,642 =

2. A four-bedroom house costs £450,000
A three-bedroom house costs £199,000 less.
How much does the three-bedroom house cost?
What method did you use to find the answer?

. All the missing digits are the same. Find the missing digits

52247()
+3./5904
90 2

4., Find the difference between A and B

A

20.&0 26,000 l

32,500 -1-2.5|D€|

5. Hereis a bar model.

A B
631,255

A is an odd number which rounds to
1 100,000 to the nearest ten thousand.
It has a digit total of 30

B is an even number which rounds to
500,000 to the nearest hundred
thousand.

It has a digit total of 10

A and B are both multiples of 5 but end
in different digits.

1. Calculate

34621 4761325
+ 25734 - 938052

67,832 + 5258 =
834,501 - 193,642 =

2. A four-bedroom house costs £450,000
A three-bedroom house costs £199,000 less.
How much does the three-bedroom house cost?
What method did you use to find the answer?

3. All the missing digits are the same. Find the missing digits

4. Find the difference between A and B

A

20.&00 26,000 I

42.5LJ4J
5. Hereis a bar model.

A B
031,255

A is an odd number which rounds to
100,000 to the nearest ten thousand.
It has a digit total of 30

B is an even number which rounds to
500,000 to the nearest hundred
thousand.

It has a digit total of 10

A and B are both multiples of 5 but end
in different digits.




